Whar feamwe or teamires differentiates the sound o each of the follewing pairs? Toreach
feature, state which meamber of the pair has the | valve. Syvmbols are TPA. Yo can vse the
Cesathine clart i vanmr lexibook, or Feahme Pad. descssed below.
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E i 1% [=high]. o= [-1.ARIAL L, +round, +hack]
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a. w = [+high]
b. b =[+round, +LABIAL]
c. Yy =[+round, +LABIAL]
d. u=[+back];y = [+front]
e. y = [+round]
f. i=[+tense]
g. 0 = [+distributed] ; z = [+strident]
h.
i. h =[+continuant, +delayed release, +spread glottis] ; ? = [+consonantal,
+constricted glottis]
J- p=[tlabial] ; t=[+coronal]
k. ts =[+anterior] ; t = [+distributed]
. Kk = [+front]
m. u = [+syllabic]
n. tO = [+distributed] ; ts = [+strident]
0. Vv =[+labiodental]
p.
q- X =[+high]; yx = [+back]
r. B =[t+delayed release] ; § =[+low]
s. kY =[+labial, +round]
t. p" =[+consonantal] ; w = [+voice, +approx, +continuant, +sonorant, +DORSAL]



For each segment, 1f vou change the value of the feature(s) indicated, what new segment
will be derived?

Old segment Feature(s) to be changed
a. i1 [ [syllabic]
b. (o] [ul [high]
c. [ds] U] [voice]
d. 5] [8] [strident]. [distributed]
e [e] [¥] [front]. [back]
f [o] [2] [front]. [back]
f [u]  [ug] [round], [LABIAT]
g [x] [x] Change [Oback, Ofront] to [-back. +front]
h. [1] [i] [front]



